NEW PRICE NEW ITEM

| | | | | <u> </u> | <u> </u> | | | INEAN LIEIAI | 2023-00-19 |
|-----|---|--|--|-----------------------|--------------|------|------------|--------------|---|
| No. | ltem | Photo | Code, Spec. | Quotation (부가세미포함) | Qty (MOQ) | Unit | Amount | L/T | Remark |
| 0 | 한국산업 공구보감 카탈로그 | SER PROPERTY OF THE PROPERTY O | 대 알기 쉽게, 더 잘 보이게! 3권 세드 | € 30.00 | 1 | SET | € 30.00 | 2~3D | 책자표지 JM Euro logo 마킹 |
| 1 | Welding Machine | | EasyMIG 225 • MIG gun SPE 150 3m • electrode holder • work clamp • gas hose with bands Input ~1× 230V ± 10% 50 / 60 Hz MIG welding current 50 - 220A MIG duty cycle 60% Output working voltage 16.5 - 25V Wire feeder built-in, 2-roll gear Wire feeding speed 2 - 12.5m/min Welding wire spool ≤ 15kg / Ø200/300mm Wire diameter 0.6, 0.8, 1.0mm | € 548.06 | 1 | SET | € 548.06 | 0.5~1W | 4대/12대 이상 발 주시 추가 단가인 하 |
| 2 | Welding Machine AC/DC package + TIG torch | | Input ~3× 400V ± 10% 50 / 60 Hz TIG welding current 10-320A TIG duty cycle 60% Gas pre flow 0.1 - 2s / Gas post flow 0 - 10s Up slope 0 - 10s /Down slope 0 - 10s TIG Pulse yes Pulse Amps 10 - 320A / Pulse Width 5 - 95% 2T/4T Control yes Arc ignition HF Remote control control in torch UP&DOWN, wired foot control, control in the handle potentiometer, wireless remote control | € 1,535.94 | 1 | set | € 1,535.94 | 1~1.5W | included : TIG torch X 4Meter • toolbox (consumable kit) • 3M electrode holder • 5m work clamp • Gas hose |
| 3 | Welding Machine | | modern digitally controlled inverter welding machine Allows welding TIG AC/DC and MMA AC/DC modes Package TIG torch SPE17 1B 4m set of consumables gas hose, 3m work clamp | € 509.15 | 2 | SET | € 1,018.31 | 2~4D | 4대/12대 이상 발 주시 추가 단가인 하 |

NEW PRICE NEW ITEM

| No. | Item | Photo | Code, Spec. | Quotation (부가세미포함) | Qty (MOQ) | Unit | Amount | L/T | Remark |
|-----|---|---|--|-----------------------|--------------|------|------------|--------|---|
| 4 | Welding Machine | 250 D D D D D D D D D D D D D D D D D D D | It is powered from a three-phase 400V network. The welding current is in the range of 20 – 250A. The power source provides a strong, focused, and stable arc. Easy-to-use function panel equipped with a digital display allows for precise adjustment of welding parameters. Package equiped: • Welding Machine • electrode holder • work clamp | € 273.91 | 2 | set | € 547.83 | 1~1.5W | 4대/12대 이상 발 주시 추가 단가인 하 |
| 5 | (light) Welding Machine | | MIG gun SPE 150 - 2m • Work clamp Input ~1× 230V ± 10% 50 / 60 Hz MIG welding current 40 - 100A MIG duty cycle 30% Output working voltage 16.6V Wire feeder wbudowany, 2 - rolkowy Welding wire spool ≤ 1kg / Ø100mm Wire diameter 0.8mm | € 126.11 | 4 | set | € 504.45 | 1~1.5W | 대량구매시 단가인 하 |
| 6 | inverter argon welding machine | TIG 350 CARC WITE INVERTER Korean L.G. B.T. INVERTER Korean | TIG350(코리아나) 용접 스타트가 부드럽다 초기가스 타임을 소비자가 설정 할 수 있어 용접 스타트시 불어냄을 방지. 본체가격임 구성 분체 모델No. DC350 TIG 350 입력전압(V) 1ø220 3ø(1ø) 220 정격입력 (kVA) 10.8 11.5 24.9 | € 1,524.20 | 2 | set | € 3,048.40 | 2~2.5W | by-air shipment from Korea 350-20M 알곤토치 20M , 어 스선3m, 가스호스 2.5m, 알곤게이지, 코렛트 척2개, 코렛 트 바디 2개, 텅스텐 봉 2개, 롱캡 1개 Old Price |
| 7 | Self- shielding flux cored wire, | | diameter 0.8 mm / 0.9 kg (D100) E71T-GS for welding without gas shield (FCAW) creates a cover that protects the weld against oxygen hermetically packed spool used in agriculture, construction and production | € 6.79 | 20 | PCS | € 135.81 | 1~1.5W | |

NEW PRICE
NEW ITEM

| No. | Item | Photo | Code, Spec. | | (uotation 가세미포함) | Qty (MOQ) | Unit | Amount | L/T | Remark |
|-----|-----------------------------------|--|--|---|---------------------|--------------|------|------------|--------|--|
| 8 | Tungsten electrode | | (WTh20 red) 2.4 × 175 mm | € | 2.15 | 100 | PCS | € 214.50 | 1~1.5W | available: 1.0, 1.5, 1.6, 2.0, 4.0, 4.8, 6.4 |
| 9 | band saw XB-180WS (체인타입) | | code: 5130564 자중하강방식 : 제품 자체의 무게를 이용하여 자동 하강하면서 피삭재를 절단하는 방식바이스타입 : 각도 절단 가능 (0~45°) 파이프(강관, 스테인리스관)및 각종 철강류절단시 사용됨 불꽃이 전혀 튀지 않고, 소음이 적어 산업 안전에 효과적임 건식타입으로 별도의 절삭유가 필요 없음 | € | 2,983.00 | 2 | pcs | € 5,966.00 | 2~2.5W | by-air shipment from Korea Old Price |
| 10 | Band saw blade for XB-180WS | BANDSAU BLADE 1430 IIIIIII 1625 IIIIIII 1625 IIIIIII 1640 IIIIII 1640 IIIIIII 1640 IIIIIII 1640 IIIIIII 1640 IIIIIII 1640 IIIIII 1640 IIIIII 1640 IIIIII 1640 IIIIIII 1640 IIIIII 1640 IIIIIII 1640 IIIIII 1640 IIIIIII 1640 IIIIII 1640 IIIIIII 1640 IIIIII 1640 IIIIII 1640 IIIIII 1640 IIIIIIII 1640 IIIIII 1640 IIIIIIII 1640 IIIIIII 1640 IIIIIIIIII 1640 IIIIIIIII 1640 IIIIIIIIII 1640 IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII | 날수 (mm) 10/14 8/12 두께T (mm) 0.65 폭W (mm) 13 16 모델No. 1430x0.65x13x14 1625x0.65x13x14 특징 - 작용기종 XB-120A/125 XB-180WS/WA XB 적용브랜드 력스 톱날길이 (mm) 1,430 1,625 1640 2,245 | € | 25.62 | 20 | pack | € 512.40 | 2~2.5W | 5pcs/pack by-air shipment from Korea 날만 별도 공급 불 가 Old Price |

NEW PRICE NEW ITEM

| No. | Item | Photo | Code, Spec. | Quotation (부가세미포함) | Qty (MOQ) | Unit | Amount | L/T | Remark |
|-----|--|-------|---|-----------------------|--------------|------|------------|----------|---|
| 11 | Band Saw | | maximum cutting capacity Ø 150mm (log), 160x140mm (profile) Up to 60% more efficient cutting compared to conventional saws thanks to the opposite rotation of the belt "NG system". Angulation 0° to 45° Practical tensioning of the saw band (rachet) - control against switching of the band Belt guidance in bearings (side and top) Quick-release robust vise Powerful electric motor (2000W) Electronic speed control of the saw band (35 to | € 1,144.80 | 1 | pcs | € 1,144.80 | 1~1.5W | maximum cutting capacity Ø 150mm (log), 160x140mm (profile) Old Price |
| 12 | Mobile workshop cabinet with tools (250 pcs) | | Workshop trolley with full drawer extension. It has an ergonomic push handle and edge protection. Large storage space at the top and compartments for small parts and tools make work easier. Central locking with 2 keys and brakes on two swivel castors. Marking of drawers thanks to the check boxes | € 354.06 | 1 | set | € 354.06 | 0.5~1.5W | Special Price |
| 13 | Tool Trolley | | 2 shelves + lockable cabinet, 850x480x1000 mm Trolley for mobile storage in demanding environments. The shelf trolley has a lockable cabinet, a drawer, side panels for tools and shelves with raised edges. Load capacity :250 kg Wheels :With a brake Type of wheels :4 swivel wheels | € 304.80 | 2 | pcs | € 609.60 | 1.5~2W | discount! different type JM can offer |
| 14 | Half door table on wheels | | Workshop workbench 575 x 600 x 850 mm The workshop table is made of high-quality sheet steel with a thickness of 0.7-1.5 mm. ·welded steel structure made of 30 × 30 mm steel profiles | € 164.52 | 2 | pcs | € 329.03 | 1.5~2W | |

NEW PRICE NEW ITEM

| No. | Item | Photo | Code, Spec. | _ | iotation }세미포함) | Qty (MOQ) | Unit | А | mount | L/T | Remark |
|-----|--------------------------------|-------|--|---|--------------------|--------------|------|---|----------|--------|-----------------------|
| 15 | mobile table | | Mobile work table with drawers 100*50*96(H)cm, 70kg equipment: 5 drawers, 2 open shelves 100% extension of drawers on ball rails • drawer load capacity 40 kg • central locking of drawers with a cylinder lock • sides of the table equipped with perforation according to the EU standard • possibility of attaching a paper holder, basket, storage tray, hooks | € | 331.12 | 2 | pcs | € | 662.23 | 1~2W | |
| 16 | Trollye for Tool | | Practical tool trolley with 5 lockable drawers, powder coated. Material :Steel plate Number of sockets :5 Load capacity :500 kg Extraction capacity :95 % Load capacity of the drawer :70 kg Wheels :With a brake Type of wheels :2 fixed wheels, 2 swivel wheels | € | 706.80 | 2 | pcs | € | 1,413.60 | 1~2W | |
| 17 | Vacuum Cleaner | | Dust filtration class "L" Universal vacuum cleaner for wet and dry work Input 1,000 W, Max. air flow 216 m 3 / h Air flow 3600 I / min, Vacuum 210 mbar Container volume 20 I, Sound pressure level (L pA) 72 dB (A), Cable length 5 m Dimensions (L x W x H) 375 x 385 x 505 mm, Weight (EPTA) 7.5 kg | € | 131.04 | 1 | PCS | € | 131.04 | 3~5D | makita |
| 18 | Wet / dry vacuum cleaner | | Improved continuous suction power thanks to innovative filter cleaning technology. Max. input 1,250 W Weight 9.0 kg Net container volume 21 I Extended life of main filter H13 HEPA filter captures 99.95% of microscopic particles | € | 170.01 | 1 | pcs | € | 170.01 | 3~5D | BOSCH |
| 19 | digimatic calipers | | 0~150mm | € | 113.75 | 2 | pcs | € | 227.50 | 1~1.5W | Mitutoyo old price |

<mark>IEW PRICE</mark> IEW ITEM

| | | | | | | | | | | INCOV II CIVI | 2023 00 13 |
|------|---|--|--|---|---------------------|--------------|------|---|----------|---------------|----------------------------|
| No. | ltem | Photo | Code, Spec. | | (uotation 가세미포함) | Qty (MOQ) | Unit | F | Amount | L/T | Remark |
| 20 | digimatic calipers | | 0~300mm | € | 275.52 | 2 | pcs | € | 551.04 | 2~3W | Mitutoyo old price |
| 21 | Big Digital Caliper | manufaction of the second | Digital Caliper, Range 0-1000mm, Accuracy +/-0.08mm | € | 584.50 | 1 | pcs | € | 584.50 | 2~3W | old price |
| 22 | Big DIGIMATIC CALIPER (Mitutoyo) | | (2000*0.01) | € | 2,524.20 | 1 | pcs | € | 2,524.20 | 2~3W | Mitutoyo old price |
| 23 | Digital Micrometer | Comment States and Sta | Range:0 - 25 mm Parallelism:1 µm Digital step:0,001 mm Maximum Permissible Error J MPE:±1 µm Measuring force:5 - 10 N | € | 207.38 | 1 | pcs | € | 207.38 | 1~1.5W | Mitutoyo old price |
| 24 | Calibration 검교정 | | | € | 12.00 | 1 | time | | | | price depends on tool type |
| 1 25 | ALUMINU M LEVEL | ATION (II) | Professional aluminum spirit level Length: 600 mm shape - X. Milled abutment edges. extremely rigid construction. Accuracy: 1mm / m | € | 7.14 | 5 | pcs | € | 35.68 | 0.5~1W | |

NEW PRICE NEW ITEM

| No. | Item | Photo | Code, Spec. | Quotation (부가세미포함) | Qty (MOQ) | Unit | Amount | L/T | Remark |
|-----|--------------------------------|-------|---|-----------------------|--------------|------|----------|--------|--|
| 26 | Workshop tools in a case | | : 8 - 19 mm Torx wrenches 9 pcs Allen wrenches 9 pcs Universal joints: 1/2", 3/8", 1/4" Extension 1/2": 5", 10" Extension 3/8": 5" Extension 1/4": 2", 4" Socket wrenches 1/2": 10 - 20, 22, 23, 24, 27, 30, 32 mm Socket wrenches 1/2" with star head: E20, E24 Long socket wrenches for spark plugs 1/2": 16,21 mm Long socket wrench for spark plugs 3/8": 18 mm Sliding T-Handle / Adapter 1/2" (M) - 3/8" (F) Bit Adapters with Holding Head: 1/2" to 5/16" (10mm), 3/8" to 5/6" (10 mm) Socket wrenches 3/8": 10 - 19 mm Socket wrenches 3/8" with star head: E10, E11, E12, E14, E16, E18 Socket wrenches long 3/8": 10 - 14 mm | € 138.55 | 1 | set | € 138.55 | 1~1.5W | |
| 27 | workshop tool case | | The set contains basic tools for every household or workshop, fixing clamps, hammer 300 g, trapezoidal cutting knife, crimping pliers, universal vise pliers, measuring tape 5 m, hot glue gun, spirit level, insulating tape, cable ties, various nails and screws . Screwdrivers for fine mechanics 6 pcs Allen keys 9 pcs Bits 6.3 mm, sorted 24 pcs Bit holder/extension 60 mm Bit Y (hook screwdriver) Screwdriver with ratchet function Screwdriver set 11 pcs Electric screwdrivers VDE 3 pcs Electrical tester Magnetic telescopic rod Set open-end wrenches with ratchet function 9 pcs | € 186.23 | 1 | set | € 186.23 | 1~1.5W | |
| 28 | Magnetic core Drill | | Max. core drill diameter 35 mm Max. core drilling depth 30 mm Clamping firmly Speed 390 rpm Smooth speed change No Magnetic holding force 1500 kg / 15000 N Base dimensions 165 × 80 mm Power consumption 1100 W Electrical connection 230 V Dimensions (w × h × d) 210 × 360 × 210 mm Mass 10 kg | € 783.18 | 1 | pcs | € 783.18 | 1~2W | available another type of magnetic Drill |

NEW PRICE NEW ITEM

| No. | ltem | Photo | Code, Spec. | Quotation | Qty | Unit | Amount | L/T | Remark |
|-----|---|-------|--|----------------------|-------|------|------------|--------|---|
| 29 | Pro bench drilling Machine (230 V) | | Bench drill with belt drive and digital speed and drilling depth indicator on the drilling head. Powerful engine Separate emergency switch Safety electronics in 24 V DC design Guaranteed accuracy ≤ 0.02 mm, measured on quill | (부가세미포함) € 1,126.03 | (MOQ) | pcs | € 1,126.03 | | different spec. of bench drilling machine JM can offer! German Brand! |
| 30 | Beveling machine | | Manual chamfer for removing burrs from stainless steel and other materials. Edging up to a bevel size of 10.6 mm. Milling angle 45° (optionally 30° and 37.5°) Milling depth at 45° 0 – 10.6 mm Speeds 2300 – 6500 rpm Input 1800 W Electrical connection 230 V Dimensions (w x h x d) 485 × 150 × 192 mm Weight 6.5 kg | € 1,077.05 | 1 | pcs | € 1,077.05 | 1~2W | |
| 31 | Retractable Ladder (Aluminum) | | Three-part universal ladder Eurostyle, number of rungs 3 x 10, max. extendable length 6.26 m and width 454 mm. Weight of the ladder: 16kg | € 218.86 | 3 | pcs | € 656.59 | 0.5~1W | |

NEW PRICE NEW ITEM

| | | | | | | | | | 2023 00 13 |
|-----|---|--|--|-----------------------|--------------|------|------------|------|------------|
| No. | ltem | Photo | Code, Spec. | Quotation (부가세미포함) | Qty (MOQ) | Unit | Amount | L/T | Remark |
| 32 | gasoline (Frame) generator | | number of phases: 3f maximum performance 12kW/15kVA (400V)/12kW (230V) operational performance 11kW/13.75kVA (400V)/11kW (230V) max. taken from a 230V socket < 3.5kW(16A)/<7.3kW(32A) Operating power 400V (W) 11000 voltage/frequency 400V/50Hz, 230V/50Hz AC rated current (230V) 47.8 / power factor 0.8/1 AC rated current (400V) 19.9 max. engine power 17.5 kW (23.5 HP)/3600 | € 3,336.00 | 1 | pcs | € 3,336.00 | 2~3W | |
| 33 | Electric power plant digital inverter | The state of the s | number of phases 1 f / maximum performance 2.0kW operational performance 1.85kW / AC rated current (230V) 8 voltage/frequency 230V/50Hz / power factor 1 weight (kg) 21.6 / the contents of the cylinder 80cc cylinder capacity (ccm) 80 max. engine power 2.5 kW (3.3 HP)/5500 min- 1 starting manually consumption approx. 1.0 l/kWh (25% power), approx. 0.7 | € 768.00 | 1 | pcs | € 768.00 | 2~3W | |
| 34 | Electric power plant digital inverter | | number of phases 1 f / maximum performance 1.1kW operational performance 0.9kW / AC rated current (230V) 3.9 voltage/frequency 230V/50Hz / power factor 1 weight (kg) 14.7 / the contents of the cylinder 49.7cc cylinder capacity (ccm) 49.7 max. engine power 1.4 kW (1.8 HP)/5500 min-1 starting manually consumption approx. 1.3 l/kWh (25% power), approx. 0.8 | € 569.00 | 1 | pcs | € 569.00 | 2~3W | |

NEW PRICE NEW ITEM

| No. | ltem | Photo | Code, Spec. | Quotation (부가세미포함) | Qty (MOQ) | Unit | Amount | L/T | Remark |
|-----|--|---|--|-----------------------|--------------|------|------------|--------|---|
| 35 | compresso r | P TO LIGHTAL PRICE AND A TOTAL PRICE AND A TOTAL | piston compressor on a horizontal tank Tank 50 liter Quantity of cylinders 2 Performance for the suction side 360l/min Pressure 10bar Engine power 1.5kW Input ~1× 230V ± 10% 50 / 60 Hz | € 620.84 | 1 | pcs | € 620.84 | 1~1.5W | 그 외 휴대용 및 고 용량 컴퓨레셔 공 급함. |
| 36 | Battery strapping machine set | | Tightening force - standard mode: 400-2500 N weight 4.3 kg Dimensions of the machine (length, width, height) 370 x 141 x 135 mm High quality for an excellent price Straps the product by pressing only 1 button Easy adjustment of tightening force and welding time Intuitive touch control panel Automatic transition to sleep mode German brushless DC motor +Bosch Li-Ion 18V, 4.0Ah | € 2,048.75 | 1 | set | € 2,048.75 | 1~1.5W | +Bosch Li-lon 18V, 4.0Ah + Battery Recharger |
| 37 | semi- automatic strapping M/C | | Table strapping machine is a semi-automatic strapping device for strapping with polypropylene (PP) binding tape. The machine will tape any product that can be placed on the machine plate. This is a universal device with a high operational capacity reliability and easy operation Powering Machine: 220V, 1 phase, 50Hz Tape tightening force: 15~45kg Weight: 85kg Size: 902*586*760mm Applicable binding Tape: Polypropylene | | 1 | pcs | € 895.70 | 1~1.5W | |

NEW PRICE NEW ITEM JM Euro s.r.o. 2023-06-19

| No. | Item | Photo | Code, Spec. | Quotation (부가세미포함) | Qty (MOQ) | Unit | Amount | L/T | Remark |
|-----|---|-------|---|-----------------------|--------------|------|-------------|-----------|--|
| 38 | Pallet truck with Urethane Wheel | | This universal pallet truck will simplify the handling of heavy loads and goods with the help of a quick lift. The quick lift function raises the forks above the floor level on the first stroke, and lifts the entire pallet on the second stroke. The mechanism automatically switches to the standard lifting mode in case the weight of the load is more than 150 kg. The 220° turning angle of the wheels will make it easier for you to control the cart. The front wheels make it easier to get in and out of pallets. The pallet truck has a CE certificate. | € 505.13 | 1 | pcs | € 505.13 | aprox. 2W | spair wheel available |
| 39 | Pallet truck with electric scale | | A low-lift pallet truck equipped with a weight indicator with a counting function and displaying the weight in 0.5 kg increments. The scales are powered by a rechargeable battery. Equipped with a digital scale, this top quality cart will save you time and improve efficiency. The built-in scales have a large, easy-to-read display and have a capacity of up to 2000 kg. The scales have a counting function and display the weight in 0.5 kg increments. | € 2,091.38 | 1 | pcs | € 2,091.38 | 2~2.5W | |
| | discount | | | | 1 | time | -€ 1,260.52 | | 3,000€~:5% |
| | Delivery Charge | | To Slovakia/ Hungary/ Poland/ Czech 10€/BOX ~ 120€/PALLET | € 35.00 | 1 | Ship | € 35.00 | | 1,000€~ : Free (부피)중량물 제외 (예: 보루, 헬멧 등등) |

EXW Trnava(SK)

Payment : In Advance

If the qty is changed, probably the price will be changed

Leading Time; counting after payment confirmation

€ 36,553.27

https://www.jmeuro.com/machinetool